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Run 5930 quartetwise, posH(O: Beam DH

— Laser ON Entries: 24149 Entries: 21015 aam1_I1ach._pocHo
= Mean: 15,6224 +/- 0.0058 Mean: 2.6602 +/- 0.0020 210135
- — Laser OFF Std Dev: 00066 +- 0.0041 | Std Dev: 0.2858 +- 0.0014 2.66
— S0 DBV 0.2858
:| 1 | | | | | | | | | | | | | I | | | | | |
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Run 5930 quartetwise, asym0Osub: Beam ON
- Laser ON Entries: 24149 Entries: 21015
B Mean: 31.3337 +- 0.1205 Mean: 0.0295 «- 0.0830
— Laser OFF Std Dev: 201205 +- 00916 | Std Dev: 12,6172 +- 0.0664
_| 1 | | |
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Run 5930 quartetwise, negHO: Beam DIN

— —— Laser ON Entries: 24149 Entries: 21015 aomi_lach._nagha

— Mean: 14,8351 +- 0.0055 Mean: 2,6595 +- 0.0020 21015

2000 — — Laser OFF Std Dev: 08603 +- 0.0039 | Std Dev: 0.2859 +- 0.0014 2.659

— oo 0.2859
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-------- Histogram Vars

Positive Hel (ON): 15.622394 +/- 0.005834
Negative Hel (ON): 14.835063 +/- 0.005536
Positive Hel (OFF): 2.660240 +/- 0.001971
Negative Hel (OFF): 2.659497 +/- 0.001972
-------- Sums and Diffs

On Diff: 0.787332 +/- 0.003240

Off Diff: 0.000742 +/- 0.002361
On Sum: 30.457457 +/- 0.010903

Off Sum: 5.319737 +/- 0.003159
-------- Asymmetries
On Asym: 31.320724 +/- 0.129662 (ppt)
Off Asym: 0.029537 +/- 0.093934 (ppt)
-------- Bkgd Subtraction
BkSub Sum: 25.137721 +/- 0.011351

BkSub Asym: 31.291187 +/- 0.160112 (ppt)



posHO

asym (AccO) / ppt

Run 5930 quartetwise, posHO vs time Run 5930 quartetwise, negHO0 vs time
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Run 5930 quartetwise, asym0Qsub vs time Run 5930 quartetwise, bcm vs time
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